EJANALOG WAY®

Front rack mount
DPH104

Composition of the rack kit supplied with the unit:
1x short bracket, 1x long bracket, 1x pairing plate, 4x M4x10 screws, 2x M3x8screws.

Tools required: One cross-headed screwdriver, One Torx T10 screwdriver, rack screws.

I. Installing one DPH104 in a rack

(MRS RN

2x M4x10
screws per side

Element of the kit needed: 1x short bracket, 1x long bracket, 4x M4x10 screws.

The DPH104 has half the width of a rack and can be installed on any side using the provided kit.
1. Install the short bracket on the side of the unit using two M4x10 screws.

2. Install the long bracket on the other side of the unit using two M4x10 screws.

3. Place the unit into the rack and screw the brackets on the rack (rack screws not provided).

The unit is now safely installed in the rack.

Make sure to provide an adequate ventilation for the unit. When installing it into the rack,
make sure no ventilation holes are blocked. The air intakes by the front panel and exhausts by

the back of the unit.

Analog Way Worldwide

Europe, Middle East & Africa: +33 (0)1 81 89 08 60
The Americas: +1 212 269 1902

Asia Pacific: +852 6882 7140
www.analogway.com



EJANALOG WAY®

Il. Installing two DPH104 in a rack

2x M4x10
screws per side

v 4x M3x8 screws

mmEaemey

Element of the kits needed: 2x short brackets, 2x pairing plates, 4x M4x10 screws, 4x M3x8 screws.

1. Place the two units side by side.

2. Install one pairing plate on the rear with the four M3x8 screws provided in the kits (use Torx screwdriver).
3. Install the other pairing plate on the front, remove and reuse the four M3x8 screws on the units.

4. Install the short brackets on the sides of the units using two M4x10 screws per side.

5. Place the unit into the rack and screw the brackets on the rack (rack screws not provided).

The unit is now safely installed in the rack.

CAUTION!

The elements of two kits are required to install two units safely in the rack.

Make sure to provide an adequate ventilation for the unit. When installing it into the rack,
make sure no ventilation holes are blocked. The air intakes by the front panel and exhausts by

the back of the unit.

Analog Way Worldwide

Europe, Middle East & Africa: +33 (0)1 81 89 08 60
The Americas: +1 212 269 1902

Asia Pacific: +852 6882 7140
www.analogway.com



